

1 次を証明せよ.

(1) $\sinh(x+y) = \sinh x \cosh y + \cosh x \sinh y$
 $(\Leftarrow \Rightarrow) = \frac{e^x - e^{-x}}{2} \cdot \frac{e^y + e^{-y}}{2} + \frac{e^x + e^{-x}}{2} \cdot \frac{e^y - e^{-y}}{2} = \frac{1}{2} \{ 2 \cdot e^x e^y - 2 \cdot e^{-x} e^{-y} \}$
 $= \frac{1}{2} \{ e^{x+y} - e^{-(x+y)} \} = \sinh(x+y) = (\Leftarrow \Rightarrow)$

(2) $\sinh(x-y) = \sinh x \cosh y - \cosh x \sinh y$
 $\sinh(x-y) = \sinh(x+(-y)) = \sinh x \cdot \cosh(-y) + \cosh x \sinh(-y)$
 $= \sinh x \cosh y - \cosh x \sinh y$

(3) $\tanh(x \pm y) = \frac{\tanh x \pm \tanh y}{1 \pm \tanh x \tanh y}$ (複合同順)
 $\frac{\sinh(x \pm y)}{\cosh(x \pm y)} = \frac{\sinh x \cosh y \pm \cosh x \sinh y}{\cosh x \cosh y \pm \sinh x \sinh y} \times \frac{1}{\frac{\cosh x \cosh y}{\cosh x \cosh y}}$
 $= \frac{\tanh x \pm \tanh y}{1 \pm \tanh x \tanh y}$
 # $\cosh(x+y) = \cosh x \cosh y + \sinh x \sinh y$
 # $\cosh(x-y) = \cosh x \cosh y - \sinh x \sinh y$
 # $\frac{\sinh x \cosh y}{\cosh x \cosh y} = \tanh x$

2 次を証明せよ.

(1) $1 - \tanh^2 x = \frac{1}{\cosh^2 x}$

$\cosh^2 x - \sinh^2 x = 1$ の両辺を $\cosh^2 x$ で割ると、 $1 - \tanh^2 x = \frac{1}{\cosh^2 x}$

(2) $\cosh \frac{x}{2} = \sqrt{\frac{1 + \cosh x}{2}}$
 $\leftarrow \text{半角} \leftarrow \text{倍角} \leftarrow \text{加法定数}$
 $\cosh x = \cosh\left(2 \cdot \frac{x}{2}\right) = \cosh\left(\frac{x}{2} + \frac{x}{2}\right) = \cosh \frac{x}{2} \cosh \frac{x}{2} + \sinh \frac{x}{2} \sinh \frac{x}{2}$
 $= \cosh^2 \frac{x}{2} + \sinh^2 \frac{x}{2} = \cosh^2 \frac{x}{2} + \cosh^2 \frac{x}{2} - 1 = 2 \cdot \cosh^2 \frac{x}{2} - 1$
 $\Leftrightarrow \cosh^2 \frac{x}{2} = \frac{1 + \cosh x}{2} \quad (\because \cosh x > 0) \quad \cosh \frac{x}{2} = \sqrt{\frac{1 + \cosh x}{2}}$

(3) $\cosh A + \cosh B = 2 \cosh \frac{A+B}{2} \cosh \frac{A-B}{2}$ $\leftarrow (\text{和} \rightarrow \text{積}) \leftarrow (\text{積} \rightarrow \text{和}) \leftarrow \text{加法定数}$

$\cosh(x+y) = \cosh x \cosh y + \sinh x \sinh y$
 $+ \cosh(x-y) = \cosh x \cosh y - \sinh x \sinh y$
 $\cosh(x+y) + \cosh(x-y) = 2 \cdot \cosh x \cosh y$
 $\{ \text{2} \} \cdot \{ \text{2} \} \quad \begin{cases} x+y = A \\ x-y = B = \text{おそ} \end{cases}$
 $x = \frac{A+B}{2}, y = \frac{A-B}{2}$ とおくと
 $\cosh A + \cosh B = 2 \cdot \cosh \frac{A+B}{2} \cosh \frac{A-B}{2}$